Secondary Math 2 Unit 4 Review Name: M Period:

Matching: Select the vocabulary term that describes each object listed from the list on the right. Each vocabulary

term must be used exactly once.
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A 2. NH -B.-—Point of tangeney

D 3. KN €-Chordthatisnot-a-diameter
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H s v ~E—€enterofcircte
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B 8] H—TFangent-tine-

9) Use the figure to answer the questions below:

a) Classify BC: semicircle  major a) Classify DBE: minor semicircle
b) What is the measure of BC? b) What is measure of BC?
©0° 1I36°

c) What s the circumference of the circle? ¢) What is the circumference of the circle?

C=2T1r = 21(6) C=1Ir = 27 ()
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d) Whatis the Ien th of BC? d) Whatis the lengthof EC?

AL= 2_1tr 6=90° AL=2T (5)(
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e) Whatis the area of ®A?

e) Whatis the area of ©®A?
A= Tr®
. 1(_((,)1 = | 36TL OR |13.1

f) What is the area of sector BC?
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X . a. What type of angle is ZCAB ? a. What type of angle is £BCD ?
N central angle, inscribed angles
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17) Determine if line AB is tangent to the circle. 18) Determine if line AB is tangent to the circle.
: 822 .
fa LR S0 4 9 S ZA qoo 22
(P42 = (52 ¥ ,{ _,5,;??"/‘*'* U+ °| = lo. 2*
|00+ 144 Z 225 AR r 23.04 +8| —J 104 {04
= S |04 .04 = |04.04

(NoT TANGENT |

, 2
(e TneenT)

19) Find the segment length indicated. Assume that lines
that appear to be tangent are tangent.
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20) Find the segment length indicated. Assume that lines
that appear to be tangent are tangent.
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21) Solve for x. Assume that lines that appear to be
tangent are tangent.  y 4 (y*= (x+7)*

= (X47) (x+7)

= XX 41X A4

22) Solve for x. Assume that lines that appear to be

tangent are tangent. 2
4 x+90 = (xx4)*
s/ |4 = (X+4) (x+4)
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23) Give the radius and the center and then graph:
(x—3)2+(y+2)2—4 center
e (3,-2)

=2

& 5 4 3 -2 1

24) Give the radius and the center and then graph:
(& + 1)2 +y%= 25 center
. r*=2% .
(-1,0)

=

25) Write the equatlon of the circle.
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26) Write the equatlon of the circle.

Sy centrer (4.1)
|/ r=3
(e g =
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27) Write the equation of the circle.

cemvr (212)

S =

A
o
"y | i
5 O, IR

28) Write the equation of the circle with the given
information:
Center: (253,-967)
Diameter: 20 <0 r=|0

=253+ (y+9eI=(o0]

29) Show that the circles are similar by describing the transformations that map ©R onto ©OT. State the scale factor.
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